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PHYSIQUEIPHYS%CS

1; The variation of momentum with time of one of the bodies in a two-body co!hsmn

is shown in the given figure./ La courbe ci-dessous montre la variation du
moment en fonction du temps d'uny corps aprés collision avec un autre, A quel
point correspond [a force max:ma!e mstantenee

.,’s:

TR
4 }
\

\

.‘EI"‘.

Bk
O

‘nfne-—u ' o ;
The instantaneous force is maxumum correspondlng to ‘khe pomt
@P ()Q (@R

2. A particle is subjected to two snmp?e harmonic motions/ Si une particle subit
deux mouvements harmomques Srmp!es,

x1=A1 sin wt . : <

x2= Azsin (wt + 1r/4)
The resultant simple harmonic motio # will have an amplitude of/ la résultante de ce
mouvement aura une amplitude dg :

(’ﬂ') (Aptﬁa}f?‘
®) g ,z}b + f"i:e
[C} fﬂl +Ag o 4—2&1&2

[#]

(d) \ Al 'P Az ‘4—1{1)42 %‘2

3. Aconvex spherical surface made of glass of refractive index 1.62 having a radius
of curvature5 cm is plazed in air. Thejrefraction matrix for this lens is: Quelle est fa
matrice de réfraction d’une surface convexe sphérique en verre placée dans
I'air ayant un indice de refractfon e 1,62 et un rayon de 5¢cm.

e e
e

1 124 1 0
(){ .1] (c)l_mq_o}f

cw[ 1 0] a2
o} ()l }
: 1 124

4. Work done in an isothermal expanSmn from volume Vito volume Vzat temperature
T is given by:/

Le travail effectué au cours d’une expansrorr ;sothermrque du volume V1 & V2 4

température T égal



: Y :
%7 |
. W

(&) RT log ;;,fb

(d) RT log ¥ V5
£, Which one of the following curves represents Maxwell’s distribution Iaw_of
velocities of molecules in a gas?/ Laquelle des courbes suivantes represente la
loi de distribution de Maxwell de la vitesse des molécules dans un gaz.
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6. The work dane in'fnoving an electron ofchar_gef and mass m from A tg B along the
circular path. (shown by arrows in the given figure) in the vertical plan_e in tr}e field of
charge Q is:/Le travail éffectué par un é!ectron‘ide masse m du point A a B sur
un trajet circulaire (vair figure ci-dessous) surjune surface verticale planne
d'un champ chargé Q égal _  _ :

ot

Q &

"

-3

— e

Ak |
(a)2mgr (b)2Qe/r (c)2 mgr + 2Qe/r  (d)Zero  (e)2Q
; : , ' .

7. Two spheres of radii R1 and Rz, joined by a ﬂné wire, are raised to a potential \.
Let the surface charge densities at these two sphéres be, respectively o1 and o
Then: - . Jror R
Detix sphéres de rayons R1 et R2 sont conne4tés par un fil fin sont excités a
un potentiel V. Siles densités de charges sur les sphéres sont respectivement
‘o1et oz, alors e ' AT

t
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(a) G2 = ( RyRa)oy .

(b) o2= { RyRy)os

{t) o2= Gy "

(@) G2=(RoRy) 03 e :
8. Two particles A and B having equal charges are placed at distance d apart. Athird
charged particle, placed on the perpendicular bisector of AB at distance x7 will
experience the maximum Coulomb force when: / Deux particules A et B de méme
charge sont séparées par une distance, d. Si une troisiéme particule chargée
est placée & une distance x1 perpendiculairemient & mi-chemin de A et 8, elle
ayra une force de Coulomb maximale lorsque

()X =an2 -
M x=d2
(€)% = /242
(D x=d32 .

9. Two identical capacitors A and B shown in the given circuit are joined in series
with a battery..If a dielectric slab of dielectric constant K is slipped between the plates
of capacitor B and battery remains connected, then thé energy of capacitor A will:/
Le circuit ci-dessous présente deux condensateurs A et B en série reliés & une
batterie. Si une plaque diélectrique de constant K est posée tel qu'indiqué

‘avec la batterie connectés,, alors lénergie du condensateur A sera

'-E‘.la R o

(a) Decrease / Décroissante  (b) Increase/ croissante (c) Remain the
samelinchangéé (d) Be zero, since circuit will not work /zero puis que le circuit
sera. déconnecté "

10. Feur resistances gach of 10 Q are connected as shown in given figure. The
reading of the ammeter A will be: Quatre resistancetayant chacune 10 O
connectées comme le montre fa figure suivante. Quelle sera [a valeur affichée
sur 'ampéromeétre? ) 1

wJ- '

(@)0.05A (b)0.2A (c) 0.4A (d)0.BA (e)0BA

11. A current of 2A flows in a system of conductors as shown in the given figure:
The potential difference Ve — Vr will be:

Siun courant de 2A est branché sur un systéme conducteur tel que dessins,
la différence de potentiel VP — Vr- sera

e, 3



"y

(a}-2v. (B)-1V @V (d)+2V  (e) 43V

12. Match List-[ with List-ll and select the correct answer using the codes given
below the lists: Faire correspohdre I liste [ aux égquations dela liste [l et
sélectionner la bonne réponse en utilisant les codes ci-dessous.

st - -~ LdsteT - \ X Codes:
| A Dalmerseries . ‘-1- ""‘*RH(?"HL} : - A BCC_D
1 (@3 2 1 4
g.-a:ac;mmses 2 (‘5";5) )3 4 271 .
L ELE ek v R S )4 3 2 1
C. Lymap segies - - 3 .""RH[}—}' ;}') ()2 3 ¥ 4
f.‘ - 1 1 )
i vy

v
‘

13, The halfife of 287 is 20 mm. What fraction of a sample of *'*Bi will remain

Ll"

www.touslesconcours.i
1% 'p oororces each of magnitude 2N, act at an angle of 60°. The magnitude of the
resultant force is/ Deux forces ayanjrt chacune une magnitude 2N réagissent 3

un angle de 60°. La force resu!tarite sera

{ay 7!’[ IN | ,

| (b)- «MN - o

R . @ieN | = ;
(@) 149N . .
17.71e Boolean expressucn of the output Y.in terms of the inputs A and B for the ‘

circuit shown in the foHowxng figure is:/ L'expression Booléenne ala sortic Y

resu!tant des entrées A et B dans le curcu:t survant est donnée par
’ AO——ps )

.(a)xf {ﬁ-ﬁH}{A-@—B) ‘ )

. @) Y =A% B)-(4+8) .
©F=AB+AE : .
{d“erABf+-AB '

18. Three simple harmonic oscillations, with amplitudes At > A2 > A3, pass through
their respective equilibrium positions with the same velocity. If these oscillators have

after 2 h? La demi-vie de *"*Bi est 20minutes. Quelle est la fraction de **Bi qui
the same mass, then their characteristic frequencies ws will be related to each other

restera apres 2h ‘ y
(a) 1/6 (b) 1/20 (c} 1736~  (d) 1/64 (d) 1/65

14. Which one of the following decays is permissible ?

Laquelle des désintégrations suivantes est poss.rb{e 7
fan->p+f +v : ¢ S
Mnan2>p+f +v
cip>a+f+¥
@p>n+f+y

15. 24. The characteristic curvé of.an electronic device is shown in the given figure,
To use this device as an oscillator, the-eperating region should be between points.
La courbe caractéristique d’un appareil électronique est donnée par Ia figure
swivante. Pour utiliser I'appareil comme un oscillateur, la partie utile de la

courbe sera

AnOd& CUttont o=

o Ancda valtage ——

(@)AandB8 (b)BandC (¢) Candl' (d)DandE

4

as: G
Trois oscillations harmoniques simples ayant des amplitudes A1> Az> Az
traversent leur point d'équilibre avec fa méme vitesse. Siles trois oscillateurs

ont la méme masse, alors la rélations de leurs Frequences (W, sera

(@) ﬁ;wfﬂgf’xg fﬂ'z*‘h {s:]ea;ﬁj wu}zA T
Broil =il = B34y (@0 7A)=(OyA=(0yhy

19.The equivalent capacitance of th{e given circuit is /Quelle est la capacité
équivalente du circuit ci-dessous’

T A . @05 R
i (b) 1 uF
() 635 Ul
D 9k

20. 125 cm of potentiometer wire ba!ances the emf of a cell and 100 cm of the wire is
required for balarice if the poles of the cell are joined by a 2Q resistor. The internal
resistance of the cell is



125 cm o’un fil sont requit pour équﬁiﬁrer a force électromotrice d'une cellule.

résistance interne de la cellule ? :
(a) 0.25 0 (0)0.50Q (c)075Q (d)125Q

|

24. 200 accumulators are connected in series in two groups of 100 accumula}ors
each, both groups being connected in parallel. The me of each accumulator is 1.4 v
and internal resistance is 0.01 Q. The entire battery is connecteq through a rheostat
to a dynamo generating 230 V. If the charging current be 30 A, then the rheostat

istance is: o .
rzegg’“;icumufateurs sont reliés en séries de deux groupes dont chacun de 100
accumulateurs. Les deux groupes sont reliés en paralléle. La force
Slectromotrice de chaque accumulateur est 1,4:V avec’une re;rstance .de 0,01 Q.
L*ensemble est relié par un rhéostat & un dynamo produisant 2._‘30\/. Sile
courant qui travers le circuit est 30 A, alors la rf.?sfstance du rhéostat est !
2040 b0s5Q C10Q pP.25Q E 150

22 Two condensers of capacitances 2 yF and 3 uF! are charged fo potentials 100 V
and 200 V respectively.. They are then joined in parallel in such a way that plates
which had positive charges are connected together. The energy dissipated‘into heat
in the process: is! : 1 o A
Deux condensateurs de capacité 2 uF et 3 uF sont chargés a un potentiel de
100V et 200 V respect?vement. lis se sont re.!iés‘ parallélement & travers _Ieur
pole positif respectif. Quelle est I'énergie produite suite a cette connexion ?
(@a6mJ (b)10 md (c)B64md (d)70mJ v,
23. The haif:life of ¥*Bi- i 20 mm. What fraction of a sample of *"*Bi will remain
&fter 2 h? st ) ; ; IO
La demi-vie de *"*Bi est 20minutes. Quelle est [a fraction de “"Bi qui restera
apres 2 E ;
(a) 1/6 (b) 1720 ~ (c) 1136 .  (d) 1/64 (e) 1165
24 The apparent weight of a person in a moving fift depends on / Le poids apparent
d’une personne dans un ascenseur en mouvement depend de
1. The actual mass of the person/ La masse actuelle de la personne
2. Acceleration due to gravity/L'accélération du a la gravité
3. Acceleration of the lift/ L’accélération de I‘ascenseur
<. Velocity of the lift/La vifesse de I"ascenseur
\"hich of the above statements are correct? /
Laguelle des affirmations suivantes est jusle?;
(a)1,2and 4 (b)1,2and 3 (c)2,3and 4 (d)1,3and 4
25_Which one ¢f the following pairs does not reprt;asent quantities of identical
dimensions?/ Laquelle des pairs suivantes ne représente pas les mémes
unités? 1 i
(a) Angular momentum and Planck’s constant / -

‘Le moment angulaire et Ia Constante de Pf‘?nck
(b) Moment of inertia and moment of a force |

Le moment d’inertie et le moment d’une force
(c) Work and torque / Le travail et le couple 1

6

-

‘Avec 100 cm du méme fil; il faut y associer ung résistance de 20 QuelMB,NW.-tOUSI €SCoNncours.i

Bmpulse’ and momentum/ L'impulsion et le moment

6. A satellite in a circular orbit about the earth has a kinetic energy E;(. What is the
minimum amount of energy to be added, so that it escapes from the earth?
Un satellite dans un orbite circulaire au tour de la terre a une énergie cinétique

de Ek. Quelle est I'énergie minimale nécessaire pour le projéter hors de son

orbite. (@)E4 (D)EW2 ()B« (d)2Bc -

27. The number .25 in the deciral notation, when converted to the binary notation
will read as: Comment écrire 6,25 en notation binaire?
(a) 110.100 (b) 101.010 (c) 10.010 (d) 101.001

28. The following processes are used for cobling:/ Les processus suivants sont
utilisés pour le refroidissement. PESETE e i e T
1. Adiabatic expansion/ expansion adiabatique e
2. Adiabatic demagnetization/demagnitisation adiabatique * -+ =~ -
3. Joule-Thomson effect /Effet Joule-Thomson' ' e
4, Evaporation /Evaporation e ] 2
The correct sequence of these processes in order of their ability to produce lower
and lower temperature is / 4 n R . -
Classer en ordre croissant le potentiel refroidissant de ces processus:
a) 4, 1,2 304,171,822 ©)4.4.3.2° d)n4d.2,3

29. Consider the following statements about Browniar! motion:/

Considérer les affirmations suivantes concernant le: mouvement Brownienne
1. The moetion is continuous random and irregular/ - ’

Le mouvement est confinu, randomisé etirrégulier
2. No two particles, execute the same motion/

Le mouvement d'une particule ne se reproduit pas Y
3. Smaller the particles, faster the motion/ La vitesse de mouvement d’une

particule est inversement proportionnelle 3 sa taille™
4. The motion is dependent on external influences:

Le mouvement depend des influences externes
Of these statements./ De ces affirmations
(a) 2, 3 and 4 are correct/ 2, 3 et 4 sont justes
(e) 1,2 and 4 are correct /1, 2 et 4 sont justes
(b) 1, 3.and 4 are correct/ 1, 3 et 4 sont justes
(d) 1, 2and 3 are correct / 1, 2 et 3'sont justes

30. Consider the following statements: Viscosity of a
Considerer les affirmations suivantes. La viscosité 5,
1. Gas increases with.temperature /d’un gaz croit avec la température
2. Gas decreases with temperature/ d’un gaz décroit avec la température
3. Liquid generally decreases rapidly with temperature i
D'un liquide générafement diminue rapidement avec la température
4. Liquid generally increases rapidly with temperature
D’un liquid généralement croit rapidement avec la température
Of these statements:/De ces affirmations
(a) 1 and 3 are correct / 1 et 3 sont justes
(b) 1 and 4 are correct/ T et 4 sont justes
(¢) 2 and 3 are correct / 2 et 3 sont justes

7
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(d) 2 and 4 are correct/ 2 et 4 sont justes

31. Consider the following forces:/ Considérer les forces suivantes
1. Nuclear force /Force nucléaire

2. Electromagnetic force [ Force éfectromagnétique

3. Weak force / Force faible:

4, Gravitational force / Force de grawte

The correct sequence of these forces in order of increasing values of their magnitude
is: /Quel est 'ordre croissant de magnitude de ces forces?

(3)4312 (b)4321 {c)3,4,2,1 (d)3412

32. What |s the correct sequence of the fcllowing’in mcreasmg order of their values of
g (acceleration due to gravity)? / Quef est l'ordre croissant en terme de g
(acceleration de gravité) de
1. Moon 2. Jupiter 3. Earth 4, Mars
Select the correct answer using the codes given be!ow! Séléctionner la bonne
réponse en utilisant les codes suivants
_Codes (a)1,4,2,3 (b)1324(c)1342 (d)1.4,3,2.
33. The focal lengths for violet, green and red light rays are fy, fg and fg
respectively. Which of the following is the true relationship? /

Les longueurs focales des rayons lumineux violet, vert et rouge sont -fv, f;; et

fR respectivement , La quelle des rélations suivantes est juste. i,

(a)fR<f(3<fv (b)fv<fg<fR ()fG<fR<fv d)fg<fv<fR

34: A sample of radioactive element has a mass of 10 g at an instant t =0. The
approximate mass of this element in the sample after two mean half lives is

La masse d’un élément radioactive estde 10g & un temps t=0.. Quelle sera la
masse de cet élément aprés deux demi-vies moyenne ? :

(a) 3.70g  (b)6.30g (c) 1.35g (d) 2.50g

35, According to kinetic theory of gases, which ane of the following statements are
true? Selon la théorie cinétique de gaz, laquelle des affirmations suivantes est
juste?
(1) Real gas behaves as ideal gas at high temperature and low pressure
Un gaz réel se comporte comme un gaz parfait & température élevée et 3
basse pression
(2) Liquid state of ideal gas is tmposs;ble I
Un état liquide dun gaz parfait n'existe pas
(3) At any temperature and pressure ideal gas cbeys the Boyle's law and Charles’
law / Un gaz parfait obéit aux lois de Boy!e etde Char!es a n'importe quelle
température et pression.
(4) The molecules of ideal gas do not exert any force on each other /
Les molécu!es d’un gaz parfait exercenf aucune force sur elles-mémes

36. A body of mass m falls from a height h and colhdes with another body of same
mass. After collision the two bodies combine and move through distance, d, till they
come to rest. Find the work done against the reystwe force. y

autre de méme masse. Aprés cette collision les deux corps se déplacent
ensemble sur une distance avant de s'arréter, Le travail effectué contre la
force de résistanceest - - | , i

(ad Yamg (h + 2d) (b) %2 mg (h — 4d)

(¢} Yamg (h =d) (dY ¥ mg,(h - 2d)

below the lists: Faire correspondte la liste | aux unités de la liste [l ef

37.. Match List | with List Il and seLct the correct answer using the codes given
sélectionner la bonne réponse qn utlffsant Ies codes ci-dessous.

List1 5 ‘ List Il
(Physical Quantity} J— ‘ Te e (Dlmension)
(Mesure physique) s T (Unit e}
A. Angular momentum / Moment angulaare MUt
B. Torque /Couple 2. [MT?
C. Surface tension / Tension de shirface 3, ML)
D. Coefficient of viscosity / Coeffi é;ent de viscosité 4. MLT?)
Codes: e

A B Cc D !
@ 4 & . 2. 1 u
) 3 4 2 v
© 1 A 5
@ 3 1 4 2 i

38. Consider the following prccesées that take place in Carnot cycle:/

Considerer les processus sn:uvants dans un cycle Carnote.

1. Adiabatic expansronf Expansion adiabatique

2, Adiabatic compression / Compression adiabatique

3. Isothermal expansion ! Expans;ion' isothermique

4, Isothermal compression / compression isothermique

The correct sequence of the abové processes is:/ Laquelle de séquences
suivantes est juste? i
(a) 13,4,2 (b)3,1,2,4 (€)3, 14,2 (d)1.3.2,4

39. A Carnot-engine operates bet\.,ldeen 227°C and 27°C. Efficiency of the engine will
be:l Si un moteur Carnot fonctidnne entre 227°C et 27°C. Le rendement du

moteur sera_ (a) 1/3 -db) 215 (c)314  (d)3/5

‘ 40. Capacitor of 20 pF capacity charged up to 500 V is connected in parallel with

anaother capacitor of 10 pF which is charged up to 200 V. Their common potenhal is:
Siun condensateur de capacrté{ 20 uF chargé & 500 V est relié en paralléle a un
autre chargé a 200 V avec une capacité de 10 yF. Quel sera leur potentiel
commun? (a)500V (b)400V  {c)300V  (d) 200V

41.A paraliel —plate capacitor ils charged by connections to a battery if the
battery is disconnected and the separation between the plates is increased.
What will happen to charge on the capacitor and the voltage across it? /

Un condensateur a plaque paraﬂélé est chargé par connexion & une
batterie. Si la batterie est déconnectée et'la distance entre les plaques

9
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augmentée, quel effet cela aura surla charge dans le condensateqnmw tousl esconcours.infd* .Which, if any, of the following is an example of a throttling pracess 7/

que le voltage ? :

a) Both remain fixed/les deux reste fixes. .|

b) Both increase/ les deux augmentent !

¢) Both decrease / Les deux décroisent

d) The charge increases and the voltage decreases/
La charge reste fixe et le voltage croit.

42 An ideal monoatomic gas is compressed while its temperature is held
constant. What happens to the internal enerdy of the gas during this process,
*and why? /.Si un gaz monoatomique idéal subtt une compression a
température constant, que deviendra son,energle interne au cours du
processus et pourquoi?

a) It decreases because the gas does work on its surroundings
Elle décroit parce que le gaz effectue c(u travail surson
environnement

b} It decreases because the molecules of an ideal gas collide,
Elle décroit parce que les molécules d’un gaz idéal entrent en
collision

c) It does not change because the internal energy of an ideal gas depends
only on its temperature -

Elle.ne change pas parce que I'énergie interne d’un gaz‘ ideal depend
umquement de sa temperature

d) It increases because work is-done cn the gas/

Elle augmente parce que un travail est effectué sur le gaz

e) It increases because the malecules travet a shorter path between
collisions. :

Eile décroit parce que les molécules opt une courte trajectorre aprés
collusion

43.A carnot cycle is correctly described as contafining two /
Le cycle de Carnot comprend deux processus
a) Adiabatic and two constant volume proce'gses /
_ adiabatique et des velumes constants |

b) Isothermal and two constant pressure prdcessés !
isothermique et des volumes constants’

c) isothermal and two isentropic processes / isothermique et isentropiques

d) Isentropic and two constant pressure proqessesf
Isentropique et des pressions constants -

e) Isentropic'and two idiabatique processes { Lsentmplque et deux
processus :d[abatiques

10
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Laquelle de ces propositions, si e!fe existe, est un exemp!e d'un
processus vibratoire ?
a) A reversible adiabatic process/Un processus adrabathue réversible
b) Anisothermal process/ Un processus isothermique -
c) A constant volume process /Un processus'a volume constant
d) An isentropic process / Un processus isentropique
e) None of the above / Aucune réponse est juste.
45.A compressor operates adiabatically on an ideat gas without fnctronal losses
between pressure P1and P2; The work:input per cycle is equal to the /
Un compresseur fonctionne adiabatiquement sur un gaz idéal sans
friction entre les pressions P1 et P2. Le travail efféctué au codrs de
chaque cycle est égal au ' b b
a) Change in mtemai energy of the gas /
changement en énergie interne du gaz .
b) Change in enthalpy of the gas / changement en enthalpre du gaz
¢) Change in Gibbs energy / différence en energle de Grbbs ey
d) Preduct of the volume and the' change in pressure / '
produit du volume et de changement en pression
e) Heat transferred / chaleur transferée
46 Which of the foliowmg is NOT a thermodynaniic property ofa system'?l
[dentifier la pmpnete non thennodynamrque parmr Ies pmposrtrons
suivantes
a) Enthalpy/Enthalpie
¢) Pressure / Pression
€} Temperature / Temperature
47.Water contained in a piston-cylinder assembly is initially at a temperature of
150°C and a pressure of 1 atmosphera. The water is slowly cooled at constant
pressure to final temperature of 25°C. Which of the following phrases and
phase condition are present during the process? .
Si 'eaus contenue dans un systeme piston-cylindre a une température et
pression respectivement de 150°C et 1 atmosphére est refroidie’
lentement a une pression constant, & une température finale de 25°C,
lesquelles de phases et conditions stivantes sont presentes duranr Ie
processus ?
| Subcooled liquid / Liquide sur-refraidi
Il Saturated liquid / Liquide saturé
il Saturated vapour/Vapeur saturée
IV Superheated vapour/ Vapeur trés chaude
a) 1& Il only b) | & Hlonly. -
d) Il &1V only e) L IL &IV

-

b) Enthropy / Entrople
d) Heatrr chaleur

o) Il &lionly’

48.1f one exactly doubles the spaed of every molecule of gas in & given vesséel,
one would make / "

11
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Si la vitesse de molécules d’un gaz dans un récipient double

a) The pressure twice as great/ Ia pression se trouverait doublée

b) The density four times as great/ la densité se trouverait quadruplée

¢) The absolute temperature twice as great/ La température absolue se
trouverait doublée ) ‘

d)- The absolute temperature four times as great{ la température absolue se
touverait quadruplée - . o

@) No change in the absclute temperature / 1a tetnpérature absolue reste
inchangée "

49.All of the following statements concemning thermodynamics are correct *
* EXCEPT / Toutes le affirmations thermodynamiques suivantes sont
justes sauf
a) The presence of irreversibility within a sytem does not prevent the passible
" use of a steady flow energy equation in analyzing the process /.~ -
L'irréversibilité dans un sytéme n’'empéche pas I'emploi d’une-
équation du régime stationnel a fin d’analyser le processus.
b) A proc'ess in which the entropy remains constant must also be an
adiabatic process /
Un processus pour lequel l'entropie ne change pas doitaussi étre
adiabatique : ;
¢) The adiabatic mixing of two air streams initially at different temperatures is
an irreversible process / Le mélange adiabatique de deux flux d'air
¢hacun 3 une température différente est un processus irréversible
d) The entropy of a completely isolated system may'ﬁot decrease with the
passage of time / L’entropie d'un systéme totalement isolé peut ne pas
démunir avec du temps. :
Itis posssible to transfer heat from a low temperature heat reservoir to a
high temperature heat reservoir. / Le transfer de la chaleur d’un
" réservoir 4 base température 3 un autre de haute.température est
possible o A '

2o

50.Fick’s first law of diffusion is analogous to'Ohm's law for electricity in that / La
premiére Loi de diffusion de Fick est analogue & celle de Ohm sur
I'électricité dans le sens quer T
a) Electrical potential is analogous 16 pressure drop / le potentiel électrique
est analogue & la baisse de pression :
b) Diffusivity is analogous to vicosity /
Ia difusibilité est analogue 4 la viscosité
) Resistance is analogous to friction /
fa résistance est analogue a fa friction
d) Concentration gradient is analogous to pressure /
fe gradient de concentration est analogue a la pression

B 12

a) 123,4°; b)89,6°;

@) Concentration gradient fs analogous to electrical potential gradient / Le
gradient de concentration est analogue au gradiert de I'électricité
potentielle

MECAN‘IQU—EI MECHANICS
Prendre I'accélération ‘de la peslanteur egale a:/ Consider the acceleration of

gravity equal to : g =9,81 m/s’

51/ Déterminer a l'aide de la t-ric_fonorhéfri'é;ia grandeur de la force P pour que fa

résultante R des deux forces appliquées en‘A’soit verticale (voir figure-1).

. Determine by trigonometry the magnitude of the force P so that the resultant R

of the two forces applied at A is vertical (see figure 1).
a) 85,5 N, b)76.8 N; c) 54,32 N: d)62,3N’
: |

52/ Quelle est alors la valeur de R‘E? ! What is the corresponding magnitude of tfie
resultant R? a) 1243 N; | b)146N; - c) 1343 N; d) 1548 N

R

|
&9 N

. 93 Une foree F de grandeur 800 N doit étre décomposée suivant les directions

définies par les segments 3 et b fvair figure 2). Calculer I'angle a par la méthode
trigonometrique si on sait que la composante de F suivant b vaut 120 N

The force F of magnitude 800 N is to be resolved into two components along
the lines a and b (see figure 2). Determine by frigonometry the angle o,
kmowing that the component of £ along the b. .

c) 116,8°; d) 86°
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b R . : WWW.tousl esconcours|iaf @es directions des deux forces

- . b C : de 300 N peuvent varier mais,
' ¢ langle qu'elles font reste constant

et égal a 40° (voir figure 4).
{1 Calculez fa valeur de a pour
-| laquelle la résultante des forces '
agissant en A soit paralléle au
segment b-b. 5 :
The directions of the 300 N| -
forces may vary, but the anglé
between the forces is always 40°
(see figure 4). Determine the

Figure2 =~ , . value of o for which the resultant
| ’ of the forces acting at A is
54/ Deux cables, dont les tensions sont connJes, sont ‘attachées au point B. Un directed parallel to the plan b-b.
woisieme cable AB, utilisé comme étai, est aussi attaché au point B (voir figure 3). a) 5,9° et (and) 125°;
Determinez la tension dans le cable AB si on veut obtenir une résuitante verticale +| b) 6,3° et (and) 133,7° ;¥
des trois forces. o b ‘ : i c)12,5° et (and) 123° ;
Two cables which have known tensions are attached at point B, A third cable ; d) 8,23° et (and) 103°
AB is.used as a guy wire and is also attached at B (see figure 3). Determine the e) 4,9° et (and) 135°
required tension in AB so that the resultant of the three forces exerted by three > g
cables will be vertical. : ‘ ' 56/ Deux cables attachés a I'anneau
a) 45,8 KN ; b) 75 KN ; c) 68,7 KﬁI ; d) 62,5 KN C, sont successivement chargés| - . . ,
' suivant la figure 5. Calculez les efforts frresetie 1 3 L

dans les cables CA et CB.

Two cables are tied together at C
and load as shown in figure 5.
Determine the fension in AC and
CB.

a) Tag =981 N et (and) Tgec =2350 N ;
b) Tac =486 N et (and) Tac =3358 N ; .
€) Tac = 586 N et (and) Tac =1354 N

d) Tac =476 N et (and) Tac =3258 N

) Tac = 286 N et (and) Tgc =3658 N

5

] - . ; e Figurals -

&
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5
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e 2438
Figure 3
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57/ Sachant que P = 445 N, calculez
les tensions dans les cables AC et BC
(figure B8). /Given that t P = 445 N,
determine the tensions in cables AC
and BC (figure 6).

a) Tac =81 N et (and) Tee =350 N ;

b) Tac =98 N et (and) Tec =235 N

¢) Tac = 205 N et (and) Tpc =164,1 N
d) Tac =96 N et (and) Tee =235 N

e) Taic =78 N et (and) Tpe =235 N

¥534 N

Flgure 6

Le manchon A peut glisser sans
frottement sur I'axe horizontal (figure : |
7).-Déterminer la grandeur de la force b= )
| P nécessaire pour  maintenir T N [ e
I'équilibre lorsque ; . g

The collar A may slide freely on
the horizontal smooth rod (figure |’
7). Determine the magnitude of the 1N
force P required to maintain e

equilibrium when: 3 : 2% B \\

Figure 7

58/ G =229 mm a)70,5N; ‘b) 1ON; ¢)905N; dy102N  e) 96N

59/C=406mm- -a)175N; ' b)98N; ¢)125N; d)2156N .,e)I6N J ﬁ
._'*\

60/ Une charge W est supportée par trois cables (voir figure 8). Calculer la valeur de i
la charge sachant que la tension dans le cable BD est 1735 N. ;&
A load W is supported by three cables as shown. Determine the value of W, -
knowing that the tension in cable BD is 1735 N.

a) 4940N; b)3654 N; c)4320N; d)5212N e) 3456 N

tousl esconcours.info }

Figure 8!
| ¥y

i . %

figure 9). Knowing that the

Ur manchon A pése 249 Net . | v i
peut glisser sans froftementle | ;
long d'une tige verticale; il est:, | ' e =i
refié & un autre manchon B par ]
uri céble AB (voir figure 9).
Sachant que la longueur du
clble est 45,7 cm, calculez sa
tension lorsque :

Callar A weighs 24,9N and

may slide freefy on smooth

vertical rod: it is connected |

to collar B by wire AB (see |
|

length of wire AB is 45,7 ¢m,
determine the tension in the

wire when: Figure 9 =
Bl1'c=51¢cm a)52N,; |b)45N; c) 21 N; d) 28N e) 32N
62:c=20,3cm a)B5N;  BbI3EN; ¢)71N; d)32N e 77N

63! L’anneau circulaire uniforme d'ine masse de 20 kg et d'un diamétre de 300 mm
est attaché a trois cables d'une IonEueur de 250 mm (voir figure 10). Calculer la
tersion dans chaque céble pour a = 120°, B = 150° ety = 90°
The uniform circular ring shown has a mass of 20 kg and a diameter of 300
mm. It is supported by thiree wirés each of length 250 mm (see figure 10). If a =
129° B = 150°, and y = 90°, determine the tension in each wire,

a) Tao=103,5N, Tgp =518 N, Tcp =89,7 N ;

b) Tao=2034 N, Tep=71,5N, Tep =49,7N; °

¢} Tao=635N, Tep=91,8N, Tep =297 N

17



e

T =297 N
Tag=63 N, Tep=91,8 N, Teo =29,
2% T::E= 535N, Tap=91,8N, Tcp =297 N

Figure 10 ‘

WWW.tousl esconcours.

[ €4/ Calculer 1a tension dans chaque
cable lorsque F = 8CON eta =90
(voir figure 11) _
Determine the tension in each
cable when F=800 N and a = 30°

(see figure 11)

a) Tac=547 N, Tgc = 800 N
b) Tac =800 N, Tec = 547 N ;
¢) Tac= 846 N, Tec = 500 N
d) Tac =876 N, Tac = 600 N
€) Tac= 836 N, Tac = 700 N

Figure 7[1'

18

| by the horizontal force P

F@:gﬂ.}ne caisse d'emballage de 100 kg est
soulevée par des palans, comme le montre [a
figure 12 qui suit. Calculer la grandeur et Ia
direction de la force T. ‘
A 100-kg crate is to be supported by the
rope-and-pulley arrangement shown

and direction of the force T.
) 512 N et (and) 26° ou 625 N et (and) 30°; .
¢) 415 N et (and) 15° ou 825 Nt (and) 20* -

d) 415 N et (and) 15° ou 825 N et (and) 20°
Le) 415 Net (and) 5° ou 546 N et (and) 25°

(figurei2). Determine the require magnitude

b 418 & et (and) 32,3° ou 767 N et (and) - 32,32 :

maintenue en place par le cable | &
AB et par une force horizontale

P paralléle 4 I'axe z. On
suppose que la caisse est
montée sur fes roulettes et on
admet que la réaction du plan
incliné est perpendiculaire 3
celui-ci (voir figure 1 3).
Calculez :

The 302,5 N crate is held on
the incline by the wire AB and

Une caisse de 3025 N esi ] :

which is directed parallel to
the z axis. Since the crate is
mounted on casters, the force
exerted by incline on the
crate is perpendicular to the
incline (see figure 13),
Determina;

86/ lintensité de P / the magnitude of P

d)1201N &) 122N

d) 227 N

a) 135N, b) 1408N: - ¢)983N:
671 1a tension dans le cable AB fthe tension in wire AB
a)330N; D)425 N ; C)201 N ;
Ty
g / 19
/

- Figure 13

e) 232 N
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Une force de 150 N est appliqué au
point A du levier (voir figuré 14).
Sachant que la distance AB = 250
mm, calculer:

A 150-N force is applied to control
lever at A (see figure 14). Knowing
that the distance AB is 250 mm..

Determine

Figure ﬁ

68/ le moment de 1a force par rapport au point B quand a = 50°, /the moment of the
force about B when @ = 50°.

a) 32,5 N.m; b) 42,6 N.m ¢) 87,6 N.m ; d) 254 N.m-e) 25 N.m
69/ 1a valeur de a pour que |a force de 150 N crée un moment maximum par rapport
3 B.:/In what direction should the 150-N force act for the maximum

moment about B? a) 20°: b)30°: © 45°; dy15° ‘e 154 N.m

ce moment maximum, /the magnitude of that maximumr moment,

70/ la valeur de
37,5 N.m ; ©) 54,3 Nm ; d) 32,8 N e) 354 Nm

a) 426 N.m ; b)

at an angle @ makes an angle o

74/ If the resultant of two forces P and Q acting
gle 8 fait un

with P, then: Si fa résultante de deux forces PetQ formant un an
angle aavec p, alors:

_ pwe _ gl
a) Tane =g rzs 3 ¢ b) Tan @ = 7. qest ;

_. . Qsin8 = Pl
C) Ten a = p-g5et | d) Tan @ = sgqm

721 1f two equal forces of magnitude P actatan angle 8°, their resultant will be:
3i deux forces, de module P forment un angle 8°, leur résultante sera . |
b) 2Psin®

a) cos’;
c) 2Ptan ¥’ d) 2Pcos e) 3Ptan =

73/Moment of inertia of a circular area about an axis perpendicular to th=-area is:
Le moment d'inertie d'une section circulaire par rapport & un axe
perpendr'cufaire et passant par son centre est:

aad: By o Eirt; )M

74/Moment of inertia of a solid sphere is: /lLe moment d’inertie d'un solide

p)Z; o it A

sphérique est. a):"‘fr:;

20

-| connected at D and support two

Caleuler l'effort appliqué 3 la
barre BD et les composantes |
de fa réaction alappui C
{voir figure 15).

Determine the forcein |
member BD and the -~
components of réaction at
C (see figure 15).

(N
|Figure 15.

75/ a)=Fep = . ' ;
a) — Fan = 2500 N ; b) Fgo = 300‘0 N : ¢) Fap =.2000 N ; d) Fao = 3500 N

76/ a) Cx=-1201 N, Cy =-1088 N ;| b) Gx=-1302N, Gy = 2038 N ;

. ¢)Cx=-2206 N, Cy=-3068N

!'(;)T! Deux poutres de 3,05 m de
ngueur sont reliées par un piv

sont soumises aux de?;x chag_:;\g:;t F?;t
Q. Sachant que le coefficient de
frotterpent est nul au point A, de 0,25
au point B, de 0,50 au point C et c{ue P
= 445N (voir figure 15), calculer la
Q!us g_rande valeur de Q pour laquelle
I'tquilibre est maintenu. (Remarquez
que C se déplace vers le haut quand B
se déplace vers la droite)

Twa 3,05-m beams are pin-

loads _Pand Q as shown (figure 16)
Kpo?vmg that the coefficient of -
friction is zero at A, 0,25 at B, and
0,50 at C, determine the Iarge;st
value of Q for which equilibrium is
maintained when P = 445 N. (Note
that (}moves up when B moves fo
theright) a)3,5kN; b)423kN;

c) 1.25kN; d)2,67 kN

Figure 16

e
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. 4 . % .
The motion of a particule is defined by the folllox?ing relationship:, where x is
d in meters and t in sec - e 1 .
Z’z:fez?i?n‘ par ['équation suivante:, ol x est exprime en métres ef t en secondes.

x-%¢3—3r2}8t+2

Calculez _ ) ’
7;! when the velocity is zero /quand la vitesse lest nulle

a) 2sand (et 45;b)3sand (e 8sic)5sand (e 3s ;d)Bsand(enTs

; ; ; leration is zero
ition and the total distance travelled when the acce
Bl ;‘)‘egﬁfg‘,‘,’d (et) 7,33 m ; b) 6 m and (et) 5,21 ;.¢) 5 m and (et) 8,7 m

A = _ _
The acceleration of particle is defined by the reiationa = - 2 mis® If v=+8misand x
= (0 when t = 0, determine when t = 6 s: |

80/ the velocity (/a vitesse) a) 2m/s ; b) ‘4 :m."s cc)6,2mfs;d) -4mis

81/ the (la) position a)8m;b)12m;c§9m;d)6m_
82/ the total distance travelled (la distance totale parcaurue)
a)20m;b)15m-;c}19m;d)25m L

i is helc ires AB and CD (figure 17).

| sphere of weight P is held as shoyvr.‘ by t\:vuo wires A
CV:E;? i\iBSlias then cut. Determine:/Une petife sphere de pqrds P est fusp::f:;e
comme indiqué par deux fils AB et CD (figure 17). Le fil AQ est alars pé.

Déterminez :

el

ey
e

e

4

3
(TR
TR
-

Figure 17

83/ The tension in wire CD before AB was cutl /La tension dafs le fil %g avant que
AB ne soit coupée. ay2P; b)1,5P; c)P; d)0,52P e) 3f

84/ The tension in wire CD just after AB hag been cut. /La 'ren§ion garé-)s 2{2 fil CD
juste aprés que AB soit coupe. a)0,5P; b} 0.6 c)12P o d)

85/ The acceleration of the sphere just after ,:\B has been cut.. !L‘agcé.leéraotigg?::‘e la
sphére juste aprés que AB sait coupé. a)'1.2g;b) 0,866 ¢) 0,59 ; ) 0, 0

Slerati ' : 3 I'horizontale juste apres
irection de Paccélération de la sphére par r:apport a :
2%?81??&2:%. IThe direction of the acceleration of the sphere relative to the

horizontal just AB has been cut. a) 30" b) 45°;¢) 157 ; d)60° e) 35
22|

velocity of 12 mfs. The
coefficient of friction between
the ‘incline and the package
is 0,13 (figure 18).
Dete mine:

projeté vers le haut d'une

] A2'C}'kg package is project:_ed AT
onds. Determine: Le mouvement d'une MiANetOUSl esconcours.imfiga 20° incline with an initial

Un paquet de 20 kg est :

pentz de 20° avec une
vitesse de 12 mfs. Le
coefficient du frottement
entre la pente et le paquet
est 0.15 (figure 18).

ﬁtafm:‘nez :

87/ The maximum distance that the package will move up the incline. / La distance
maximale qu'atteindra le paquet sur la pente, e :
a)24m; b)1520m; «¢)238m: -

Figure 18-

© dy16:28m e)20m- -

88/ Tne velocity of the package when it returns to its original position.
La vitesse du paquet quand in retournera &sa position initiale, *: . .
a) €.23m/s ; b)) 7,74 /s ; c) 521mis ; “dy92mis el 9mls .

89/A Torce R is to be replaced by two'forces 2 and Q pérallel to it and at distancas a
and b from R. Force P-will be equal to / :

Une force R peut étre remplacée par deux forces P et Q qui lui sont paralléles
et situées a des distances a et b de R. La force P est égaled :

Ra

" Rb : wog
ajRe; By e aa | s €ER

90/ The maximum coefficient of fric".tior.lb,etweeh a sj)her.erand Encli'r_'.ed plane of 8 50
that the sphere may roll without slipping is/ ; i
Le coefficient de frottement maximal entre une sphére et un plan incliné d’un

angle 8 pour que la sphére roule sans glisser est:

1 2 ey :
! 9 — {0 = 6 —tg G

9t A projectile is fired at an angle 8 to the vertical. Its horizontali range will be )

maximum when 8 is: /Un projectile est lancé suivant un angle 8 par rapport a fa

verticale. Sa portée horizontale sera maximale si @ est:

a) 0°; b)30°; c)45°; d)B0° o) 35%

The aczeleration of a particule is defined by the relation a = kt2
L'accelération d’une particule est définie par la relation a =kt

23




g7/ La vitesse (

%

92/ Knowing that that v = a2miswhent=0sandv=+ 32 mls when t = 4's, determinW\/_tOUSl ©sConcours | nf O)

constantk. /
Sachant que
constante k.

a) 5 mis*; p)3mis’; )26 mis* ; d) 4,5 m/s’

v=-32m/s duand t=0sandv=+32m/s when t =4 s, déterminez Ia

Write the equations of motion knowing also that x = 0 when t=4s.
Ecrire les équations du mouvement sachant aussi que X = Oquantt=4s

93/ The x-coordinate in meters (L'abscisse en métres)y x(t)
a) %114t + 25 b) 0,58 +13t-37 "¢

c) 0,25t -32t+64;  d) 0,58+3t

94/ The velocity in m/s (La vitesse en m/s), V(1)

a)5ti—14;  b)t'=32; cjt+13; dystt+14
95/ The acceleration in m/s? (L'accélération en mis?), af)
a) 3t*; b) 58°; 1+t; - d 32+3-€) 2+

Le mouvement d'un point sur le plan est donné par les équations:
The movement of a point on the plan is given by the equations:

x = sin t h

y = cos 2t _ .
x, y en (in}) cmetten (in) secondes. Déterminez (Determirie) & v,

96/ La trajectoire du point/ The trajectoryof the point
e - % / e 3
a)y—l Tx™. r_t‘})y 3+ /2% 9.°)y 14+ 2x d) yaox

The velocity) & (aty t=0ett= w4, a)2cmis et'(and) 1,62
cm/s ; b) 5,2 cm/s et (and) 1,8 cm/s | c) 1 cm/s et (and) 2,12 cm/s

g8/ Les composantes tange ntielle et normale de laccélérationat=0
Tangential and normal components of the accelerationatt=0

a)3 cm/s” et (and) 2,6 cm/s? ; b) 0 cm/s” et (and) 4 cmls?
c) 5,6 cm/s” et (and) 3,4 cmis® d) 6 cm/s’ et (and) 3 crrls?
e) 5 cm/s® et (and) 4 cm/s

99/ Les composantes tangentielle et normale de Iaccélération a t = /4
Tangential and normal components of the acceleration at t = 1/4

a) 2,3 cm/s” et (and) 5,6 omis?; b) - 2,5 cm/s” et (and) 2,4 cmls? “

c)- 0,24 crmis? et (and) 0,67 ci/s”  d)—0.4 cm/s? et (and) 0,7 cmls?

100/ Les compoesantes tangentielle et normale de Paccélération 4 t= 3m/2
Tangential and normal components of the acceleration at t = 3m/2

a) 4,12 cm/s” et (and) 0 cmls? ; b) 12,3 cm/s” et (and) 0.6 cmis?
¢) 1,3 cn/s® et (and) 4,6 cmis? d)— 0,24 cm/s? et (and) 0,67 cm/s”
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